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What is the primary goal of financial
management?

(A) Maximizingrevenue

(B) Minimizing expenses

(C) Maximizing shareholder wealth

(D) Ensuring liquidity

Which of the following is not a function of
financial management?

(A) Investment decisions

(B) Financing decisions

(C) Dividend decisions

(D) Marketing decisions

The term 'capital structure' refers to :

(A) The mix ofequity and debt financing

(B) The allocation of capital to different
departments

(C) The structure of assets and liabilities

(D) The process of budgeting for capital
expenditures

Working capital management involves :
(A) Long-term financial planning

(B) Short-term financial planning

(C) Capital budgeting

(D) Risk management

What does the acronym "WACC' stand for?
(A) Weighted Average Cost of Capital

(B) Weighted Asset Cost of Capital

(C) Working Average Cost of Capital

(D) Weighted Average Cost of Current assets
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10.

Which of the following is a source of long-term
finance?

(A) Trade credit

(B) Commercial paper

(C) Equity shares

(D) Bank overdraft

The cost of equity is :

(A) The return required by equity investors
(B) The interest paid on bonds

(C) The cost of obtaining a bank loan

(D) The average cost of all sources of financing

Financial leverage refers to :
(A) Theuse of debt to increase potential return
(B) Theuse of equity to reduce risk
(C) The balance between current and fixed
assets

(D) The control of operational costs

Which of'the following is an example of a non-
cash expense?

(A) Interest expense

(B) Depreciation

(C) Wages

(D) Rent

The payback period is used to evaluate :
(A) Long-term profitability

(B) Cash-flow timing

(C) Investment risk

(D) Liquidity
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11.

12.

13.

14.

15.

What is the main objectives of cash flow
management?

(A) Maximize net income

(B) Ensure sufficient liquidity

(C) Minimize cash balance

(D) Increase profitability

The term 'beta’ in finance refers to :
(A) Market risk of a stock

(B) Return on equity

(C) Interest rate risk

(D) Liquidityrisk

A company's dividend policy determines :

(A) How much profit is reinvested

(B) The mix of debt and equity financing

(C) Therate of return on new investments
(D) The amount of earnings distributed to

shareholders

What does 'liquidity' mean in financial terms?
(A) Profitability of the firm
(B) The speed at which assets can be
converted to cash
(C) The firm's overall financial health
(D) The firm's ability to pay dividends

What is "capital budgeting"?

(A) Planning for long-term investments

(B) Managing day-to-day financial operations
(C) Allocating funds to short-term assets

(D) Balancing the capital structure
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A high current ratio indicates :
(A) Poor liquidity

(B) Strong liquidity

(C) High profitability

(D) Highleverage

Which financial statement provides a snapshot
of'a company's financial position at a specific
point in time?

(A) Income statement

(B) Statement of cash flows

(C) Balance sheet

(D) Statement of retained earnings

Net Present Value (NPV) measures :
(A) The profitability of an investment
(B) The total value of an investment
(C) Thereturn on equity

(D) The cash inflows from an investment

Which of'the following is a cash inflow in the
context of capital budgeting?

(A) Initial investment cost

(B) Operating expenses

(C) Salvage value

(D) Depreciation

The internal rate of return (IRR) is the discount
rate that :
(A) Maximizes the net present value
(B) Equates the present value of cash inflows
and outflows
(C) Minimizes the cost of capital
(D) Equals the cost of equity

16.

17.

18.

19.

20.

S=d =] SIS -
(A) TR T

(B) AT At

(C) 3=3 IR

(D) 3=a 3dIeH

®H o foxta foeror foredt fafime g99 w
S o fadg feafq &1 T e s
H 2

(A) & oo

(B) Tehal Yamg w1 T

(C) sef| vie

(D) gfaenia 1 k1 faerm

2 Usie deg (TAdE) HHar B-
(A) fordt freer =t enwyRa
(B) fordl fawr =1 %1 g
(C) sfoedt W e

(D) freht frawr ¥ Josl vaE

oot woie & Hed A frefafed o @ & @
TR TR 2

(A) IR et @rma

(B) af=Ted =1

(C) 5= A

(D) AeTeTd

e gfawel T (STRIARAR) 98 B2

g -

(A) IS T49H oI i Afreran St §

(B) Tl yaE MR dfgdle & =AM Hod
I TR w7

(C) gt =1 @ I a9 Ht @

(D) Zfedl ®1 o & SR Bl ©

[ BBAV-501/2024 |



21. Which of'the following is not a component of

the cost of capital?

(A) Costof debt

(B) Costof equity

(C) Costofretained earnings
(D) Cost of goods sold

22. Whatis financial risk?

(A) Therisk ofloss due to adverse movements
in exchange rates

(B) Therisk associated with financing decisions

(C) Therisk of loss from an investment

(D) Therisk of not having sufficient cash flow

to meet obligations

23. Dividend payoutratio is :

(A) Dividends per share divided by earnings
per share

(B) Total dividends divided by net income

(C) Total dividends divided by total equity

(D) Total dividends divided by total assets

24. Ahighlyleveraged firm:

(A) Has ahigh proportion of debt in its capital
structure

(B) Has ahigh proportion of equity in its capital
structure

(C) Has low financial risk

(D) Islessrisky than a firm with low leverage
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25.

26.

27.

28.

29.

30.

What is the formula for calculating return on
equity (ROE)?

(A) Netincome/Total assets

(B) Netincome/Shareholder's equity

(C) Total revenue/Shareholder's equity

(D) Netincome/Total liabilities

Which of the following is a characteristic of
preferred stock?

(A) Votingrights

(B) Fixed dividends

(C) Tax-deductible dividends

(D) No claim on assets

A bond's coupon rate is :

(A) The annual interest rate paid by the bond
(B) The yield to maturity of the bond

(C) The current price of the bond

(D) The face value of the bond

What does EPS stand for in financial
management?

(A) Equity Per Share

(B) Earnings Per Share

(C) Equity Portfolio Standard

(D) Earnings Portfolio Standard

Which financial metric is used to evaluate a
company's profitability?

(A) Currentratio

(B) Debt to equity ratio

(C) Netprofit margin

(D) Inventory turnover

Capital market primarily deals with :
(A) Short-term securities

(B) Long-term securities

(C) Derivative instruments

(D) Foreign exchange
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31.

32.

33.

34.

3S.

Which of the following is an example of a current
asset?

(A) Buildings

(B) Machinery

(C) Inventory

(D) Patents

What is meant by 'yield to maturity' on a bond?
(A) The annual interest income divided by the
current price
(B) The total return anticipated on a bond if
held until it matures
(C) The face value of the bond
(D) The interest rate that equates the present
value of'the bond's future cash flows to its
current price

In the context of financial management, 'agency

problem' refers to :

(A) Conflicts of interest between managers and
shareholders

(B) Issues between creditors and shareholders

(C) Disputes among board members

(D) Regulatory challenges faced by the
company

Which of the following is a non-cash investing
activity?

(A) Purchasing machinery for cash

(B) Selling inventory for cash

(C) Issuing stock to acquire land

(D) Payingdividends

The current ratio is calculated as :
(A) Current assets/Current liabilities
(B) Current liabilities/Current assets
(C) Total assets/Total liabilities
(D) Total liabilities/Total assets
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36.

37.

38.

39.

40.

Operating leverage measures the sensitivity of :
(A) Operating income to changes in sales

(B) Netincome to changes in sales

(C) Sales to changes in fixed costs

(D) Sales to changes in variable costs

A firm's weighted average cost of capital
(WACC) decreases if

(A) The cost of equity increases

(B) The firm takes on more debt

(C) The firm issues more equity

(D) Market interest rates rise

Which of the following is true about preferred

stock dividends?

(A) They are tax-deductible

(B) They must be paid before common stock
dividends

(C) They vary based on company performance

(D) They have voting rights attached

What does the term 'arbitrage' refer to?

(A) Long-term investment strategies

(B) Simultaneous buying and selling of securities
to take advantage of price differences

(C) High-risk investments

(D) Strategic asset allocation

Which ratio would be most useful in evaluating
acompany's efficiency in using its assets?

(A) Debt" to equity ratio

(B) Return on assets

(C) Currentratio

(D) Interest coverage ratio
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